Multiplicacion por Celosia (D)

Use la multiplicacion por celosia para hallar cada producto.

4 0 8 5 7 9 3 1
9 5
8 2
4 8
8 0
4 0
4085 x 98484 = 7931 x 52800 =
6 3 2 3 9 0 5 1
5 3
6 2
1 8
3 7
0 9
6323 x 56130 = 9051 x 32879 =

MatesLibres.Com




Multiplicacion por Celosia (D) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

4 0 8 5 7 9 3 1

3 0 7 4 9 3 4 | 0 5
a6, 0, 2 5 a5, 5,5 s

3 0 6 4 8 1 1 0 0 )
0 2 0 4 0 1 4 8 6 2

1 0 3 2 4 5 7 2 0 8
2 6 0 2 0 8 6 2 4 8

3 0 6 4 8 0 0 0 0 0
3 2 0 4 0 7 0 0 0 0

] 0 3 2 4 0 0 0 0 0
0 6 0 2 0 5 0 0 0 0

7 ] 4 0 6 8 0 0

4085 x 98484 = 402,307, 140 7931 x 52800 = 418,756,800
6 3 2 3 9 0 5 1

3 ] 1 1 5 2 0 ] 0 3
3 0 5 0 5 2 7 0 5 3

3 | | 1 6 1 0 1 0 )
5 6 8 2 8 9 8 0 0 2

0 0 0 0 1 7 0 4 0 3
4 6 3 2 3 7 2 0 0 8

1 0 0 0 3 6 0 3 0 7
9 8 9 6 9 5 3 0 5 7

0 0 0 0 0 8 0 4 0 9
0 0 0 0 0 8 ] 0 5 9

9 9 9 0 7 8 2 9

6323 x 56130 = 354,909,990 9051 x 32879 = 297,587,829
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